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            SECTION-A    (5x4=20 Marks) 

Answer any Five questions from the following 

 
1. From the following particulars, find (i) contribution (ii) p/v Ratio. 

 

(i) (ii) p/v 


 Rs.
Variable cost per unit 

 
40

Selling price per unit  80
Fixed expenses  40,000 

Output  10,000(units)
 
 

 

 

 

 

 

2. The standard and actual requirements of Material „A‟ are as under: 
 

„A‟  
 

Standard :  20,000 units @ Rs.4.00 per unit 

 
Actual    :  26,000 units @ Rs.3.80 per unit 

 
 

Calculate Material cost variance.  

 

3. The working capital of a firm is Rs.40,000 and its current ratio is „5‟. What are the current 

 assets and current liabilities? 
 

  
 



 

4. Explain concept of “Funds”.   

 

5. Calculate cash from operating activities. 
 

 


 

 Rs. 

 
Purchases ( 2,00,000 

Sales ( 2,75,000 

Expenses     35,000 

Debtors at the beginning of the year 

 
40,000 

Debtors at the end of the year 

 
50,000 

 

 

 

6. Opportunity cost.   
 

7. Essentials of Budgetary control.  
 

Contd……2 
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8. Given that cost of goods sold is Rs.1,40,000; operating expenses are Rs.2,00,000 and net sales 

           are Rs.6,80,000.Calculate the operating ratio. 
 

 

 ;
;


 

 

 

             SECTION-B    (5x12=60 Marks) 

 Answer all the following questions 


 

9.   (a) The sales turnover and profit of a company during two years was as follows: 
 

      


 

         Sales  Profit  

(Rs.)               (Rs.) 

    

  1999  3,00,000 40,000 

 

  2000  3,40,000 50,000 

  

      You are required to calculate (a) p/v Ratio (b) break even point (c) Sales required to eam 

                a profit of Rs.80,000 (d) the profit made when sales are Rs.5,00,000 (e) Margin of safety 

     at a profit of Rs.1,00,000 (f) variable costs of the two periods. 

(a) p/v (b) (c) 
(d) (e) 
(f)  

        

(OR) 
(b) Manik Ltd. Produces a product that can be further broken down into 3 parts namely A,B 

     and C. Every month, it produces 50,000 units of A : 20,000 units of B and 30,000 units of 

     C at a cost of Rs. 15,00,000. These costs are apportioned to the three products in the ratio 

     of number of units produced i.e.5:2:3 
 

     
 A,B C A B C

5:2:3.     
    Each of the  three parts can be further processed, the details of which are as under: 
 

    
    

 

 

 

 

 

 

 

 

 

 

 

Should Manik Ltd process 3 products further? 
 

 

  Contd……3 

 A B C 

Selling price p.u. at split 

 
15 8 10 

Further processing cost p.u 

 
5 3 4 

Selling price p.u after 

Further processing 


 
 

23 15 13 
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
10. (a) Write advantages of Budgetary control. 
 

      
(OR)

 (b) Calculate (i) Material cost variance (ii) Material price variance (iii) material usage variance 
 

    (i)  (ii)  (ii) 
 

    Standard Actual 

      
      Quantity (kg)     80    96 

       
      Rate per kg Rs.     20    24 

      
 



 

11. (a) Explain the objectives of Financial Statement Analysis. 
 

       
 (OR)

 (b) The following is the Trading and P&L A/c for the year ended 31
st
 December 1998 and 

      Balance sheet as on that date of Kiran Ltd. 
 

      
 
 

 

      Statement of profit & Loss for the year ended 31
st
 December 1998. 

 

      

 

Particulars 

 
Note 

No. 

 
Rs. 

 

I. Revenue from operations 

 
 85,000 

II. Other income 

            
1 500 

   

Total Revenue (I+II) 

 
 85,500 

Expenses 

 
  

Purchases of stock in Trade  

 
 55,950 

Changes in Inventories  

 
2 - 4,950 

Employee Benefit Expenses  

 
 15,000 

Finance costs   1,500 

Other Expenses   3,000 

Total Expenses   70,500 

Net profit (  15,000 
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Balance sheet as at 31
st
 December 1998 

 


 

I.  EQUITY AND LIABILITIES 

 
Rs. 

 
II. ASSETS 

 
Rs. 

 
  1.Non-current Assets 

 
 

    Shareholders Funds 

      
 2.Fixed Assets 

 

23,000 

a. Share Capital 

 
20,000 Tangible Assets 

  
 

b. Reserves & Surplus 

 
15,000 Current Assets 

 
 

Non-current Liabilities 

 
- Inventories 

  
14,900 

        current liabilities 

         
13,000 Trade Receivables 

 
7,100 

           Cash and cash 

Equivalents 

         

 

3,000   

            Total  48,000  Total  48,000 

 

 

Notes to Accounts: 





 
 

 

 

 

 

 

 
 

       

 

 

 

 

 

 

 

 

 

 

 You are required to calculate (a) current Ratio (b) operating ratio (c) stock turnover 

 ratio (d)  Net profit Ratio. 
 

    (a) (b)  (c) 
 (d) 
  

  

12. (a) Explain differences between Funds flow statement and cash flow statement. 
 

      
(OR)

Contd……5 

Other income 

 
 

Dividend on investments      

 
300 

 

Profit on sales of Assets         

 
200 

Change in Inventories 

 
                                                 

500 

Opening stock 

                        
9,950 

Closing stock  

                       
14,900 

Changes in inventories 

             
-4,950 
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 (b) The following are the Balance sheet of Arjun Ltd from which you are asked to prepare 

      funds flow statement. 
 

      
 

 

13. (a) Exe. Ltd made a profit of Rs. 18,50,000 after considering the following. 

      


 

 

  

  

  

 

 

  
  

 

 

 
 

 

 

    The following additional information is also given. 




 31-12-98 31-12-99 

Particulars  Rs.  Rs.  
Debtors  1,80,000 1,70,000 

Creditors  1,20,000 90,000 

Bills Receivable  70,000 40,000 

Bill payable  30,000 35,000 

Outstanding Expenses  40,000 20,000 

Prepaid Expenses  20,000 25,000 

      You are required to ascertain the cash flow from operations 

       
(OR) 

       (b) Explain importance of Cash flow statement.  

   Equity and Liabilities 

 
31

st
 March 

2016 (Rs.) 

 

31
st
 March 

2017 (Rs.) 

 
ASSETS 

 
31

st
 March 

2016 (Rs.) 

 

31
st
 March 

2017 (Rs.) 

 
Shareholders Funds 

 
  Non-current Assets 


  

Share capital 

 
1,25,000 1,50,000 Fixed Assets 

 
20,000   30,000 

Reserves & Surplus 

 
60,000 75,000 Non-current Investments 

 
15,000 10,000 

Non-current Liabilities 

 
  Current Assets 

  
  

current Liabilities 

 
  Inventories 

 
87,000 1,20,000 

Trade payables 

 
70,000 1,00,000 Trade Receivables 

 
98,000 90,000 

   Cash and cash Equivalents 

 
35,000 75,000 

            Total  2,55,000 3,25,000 Total  2,55,000 3,25,000 

  Rs. 

 
(1) Depreciation on fixed assets  50,000 

(2) Profit on sale of Buildings  1,00,000 

(3) Loss on sale of Machinery  40,000 

(4) Provision for Taxation  3,00,000 

(5) Provision for doubtful debts  5,000 

(6) Transfer to General Reserve  1,20,000 

(7) Amortization of Fictitious Assets  20,000 


